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main.c
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freertos.c

‘ chassis_task.c

grab_task.c ‘ ‘ servo_task.c ‘

stm32 EHIRZEEEAS G main.c, £ main.c T T5E o WG S A
freertos, HURIZ1T H & LN LEE

‘ error_task.c ‘ ‘ grab_task_left.c ‘ gimbal_task.c ‘

HLAEEH:
error_task.c R A 2 75 P 2
grab_task_left.c & grab_task.c A A PN T 2672
chassis_task.c JEC B | 26 A2
gimbal_task.c PAR = E il 5
servo_task.c 155 F EM LA il $8 15 Sk 3 3
1.grab_task_left.c & grab_task.c
grab_task.c
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grab_task.c.

2.servo_task.c

{1 switch-case 244, FIWT H Al AL FPRES A L —REPIRES, SLBHZ T Q. E
REAHENL S = & LGk B IIRE.

servo_task
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3.chassis_task.c

28 int kb stat = 2;

29 int servo pwm = 1500:

30 woid servo_task(const void *argu)
3154

32 servo_pwm = 1500;

33 while (1)

34 [H {

35 if (ro.kb.bit.Q)

36 kb stat = 1;

21 if (rc.kb.bitc.E)

38 kb stat = 2;

39 if (rc.kb.bit.R)

40 kKb stat = 37

41

42 switch (kb _stat)

43 {

44 case 1:

45 servo_pwm = 320;
44 break;

47 case Z:

48 servo_pwm = 1500;
49 break;

50 case 3:

=il servo_pwm = 2080;
52 break:

=3 Ll H

54 TIM2->CCR1 = servo_pwm;
S osDelay (10) ;

56 H

57 }
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Hr traj_calc() ik BT BRAL
HAKWT

case CHASSIS_RUTOC:

‘112&|
413

214 chassis.vy = rc.ch2 # CHASSIS_RC_MOVE_RATIC Y + km.vy * CHASSIS_FC MOVE RATIC ¥; // vy USE REMOTE CTRL
215 get_sensor data(sensor data): //GET SENSOR DATA

416 traj_calc(sensor_data, &achassis); //GET VHeVW

217 if ((=ensor _data[l4] == 1 && sensor data[l5] == 1 )||( sensor data[l6] == 1 && sensor data[l7] == 1))
418 //if all IR detector at one side detected the box  (the car is at the right place)

219 chassis.vy = 0; //STCP

420 toreak;

421

422 defaultc:

223 [ 1

424 chassis.vy = 0

425 chassis.vx = 0;

4326 - tbreak:

227

{
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187 woid traj_calec(int sensor[], chassis_t *chassis_data)

198 [{

158 float £ v = 0;

200 float b_v = O0;

201 //front wheel vx calculate

202 if ((sensor[0] + sensor[&]) '= 0)

203 4 {

204 f v = sensor[0] * COEF_3 - sensor[6&] * COEF_3:
205 - H

208 else if ((sensor[l] + sensor[:]) != 0 && £ v == 0)
207 [ i

208 f v = sensor[l] * COEF_2 - sensor[5] * CCOEF_2:
208 - H

210 else if ((sensor[2] + sensor[4]) != 0 && £ v == 0)
211 [ i

212 f v = sensor[2] * COEF_1 - sensor[5] * COEF 1:
213 H

214 else

215 4 {

218 fwv=20;

217 - H

218 f//rear wheel vx calculate

219 if ((sensor[7] + sensor[l3]) '= 0)

220 4 {

221 b v = sensor[l13] * COEF 3 - sensor([7] * COEF_3:
222 H

223 else if ((sensor[E] + sensor([l2]) != 0 && £ v == 0)
224 [ i

225 b_w = sensor[l2] * CCOEF 2 - sensor([2] * COEF_2:
228 H

227 else if ((sensor[3] + sensor([ll]) != 0 && £ v == 0)
228 [ i

229 b v = sensor[ll] * COEF 1 - sensor[%] * COEF_1:
230 H

231 else

232 0 {

233 b wv=20;

234 H

235 //vaevw calculate

236 chassis_data->vx = (f v + b_v):

237 chassis_data->vw = (£ v - b_v):

238 -}

AL
4.gimbal_task.c
AR IR A A H 248 Bk, R FRE 7 —2eii o5 X

if (shoot_cmd)

{
trigger pos ref = moto trigger.total ecd;
trigger pos ref += 130322 * 2 * trigger dir; //3hot two bullets at once
shoot_cmd = 0;

}

TER
1) pitch Fil3Z 5 BB IE 1% SS90 AT WL A2 2o

case GIMBALT. CLOSE LOOP ZGYRO:

{

pit_angle fdb = pit_ relative angle;

pit angle ref = roc.ch4 * 35 / 1320 + 7.5;

vaw angle fdb = wyaw zgyro angle - g¥Yaw.zgyro offset;

vaw angle ref += -rc.ch3 * 0.0015F

- roc.mou=se.x * 0.01f;

tboxreak:
default:

break;



53815 PrX
RATRERME T CAN (S, WL, FRMas

CANBZHIES

RTR
IDE Y| (s mew [ | BB G

. 1
@
at
o

) > CRCH3% —> MR

3
I
4

CAN Hicdfs it (1 it 25 # R
Hrp AT Lok IE 8 A5 I Bt

EL
= @brief =end cylinder data to cylinder controller through can
= @param input : switch data[4]
* output: NULL
# Enote
cylinder controller ID: 0x501
datal~data4: cylinder data
dataS~data8: 0
*f
void can szend cylinder dataf)
{
CYLINDER CAN.pTxMzg->5tdld = 0x501;
CYLINDER CAN.pTxMzg->IDE = CAN ID S5TD:
CYLINDER CAN.pIxMsg->RTR = CAN RTR DATA;
CYLINDER CARN.pTzMsg->DLC = 8:
CYLINDER CAN.pTIxM=zg->Data[0] = cylinder data[0]:
CYLINDER CAN.pTxM=zg->Data[l] = cylinder data[l]:
CYLINDER CAN.pTIxM=zg->Data[2] = cylinder data[2]:
CYLINDER CAN.pTxM=g->Data[3] = cylinder datal[3]:
CYLINDER CEN.pTzM=g->Data[4] = O;
CYLINDER CEN.pTzM=zg->Data[5] = O;
CYLINDER CEN.pTzM=g->Data[&] = O;
CYLINDER CEN.pTzM=g->Data[7] = 0;
HAL. CAN Transmit (&CYLINDER CAN, 1000);
}
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